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=ND:[E=n'’ 7,978,378 7,533,378 445,000
[=4 155,000 0 155,000
Al 7,823,378 7,533,378 290,000
SADIB &4 4,551,929 4,356,929 195,000
[ 155,000 0 155,000
Al 4,396,929 4,356,929 40,000
A2 = 107,208 77,208 30,000
CAZZEHSALY 107,208 77,208 30,000
401 AlEHIZ =20l 100,000 70,000 30,000
01 Al&HI 100,000 70,000 30,000
OZ=Y5l0l= =8 DI2FHl 30,000,000 14l 30,000 0 30,000
SAAEAE 578,000 498,000 80,000
HCHAMEX 2AXH 548,000 498,000 50,000
401 AlEHIZ =20 518,000 468,000 50,000
01 Al&H| 518,000 468,000 50,000
OsleS 2YUZE FHANY(HYR)
50,000,000 14l 50,000 0 50,000
LA O|EEX S2Yor ¢inad 30,000 0 30,000
401 AlEHI 2 =20HY]| 30,000 0 30,000
01 Al&HI 30,000 0 30,000
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[= 155,000 0 155,000
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= 155,000 0 155,000
Al 3,093,792 3,163,792 AT70,000
401 AlEHI L= 740,000 655,000 85,000
[ 155,000 0 155,000
Al 585,000 655,000 AT70,000
01 Al&HI 740,000 655,000 85,000
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[ 25,000 25,000
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X EH2AAY 30,000,000 14l 30,000 30,000
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L AIEAY 10,000,000 * 14! 10,000 10,000
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A3 450,000,000 450,000 450,000 0
= 70,000 0 70,000
Al 380,000 450,000 A70,000
SA BN 509,791 259,791 250,000
SANBEZ N 478,000 228,000 250,000
e 2YE He 250,000 0 250,000
401 A& Bl L= CH bl 250,000 0 250,000
01 Al Hl 250,000 0 250,000
OWet0tS MY 2 & (L=250m, B=20m)
250,000,000+ 14! 250,000 0 250,000
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